SAP ABAP table BSID {Accounting: Secondary Index for Customers}

BSID-AUFNR = AUFK AUFNR AUFK

e=TTT 0..N' 'MANDT [CLNT (3)]

-7 AUFNR [CHAR (12)]

L J 1BBRANCH

/ - T T 0. N |MANDT [CLNT (3)]

/ - BUKRS [CHAR (4)]
/

! - BRANCH [CHAR (4)]

b BSID-KUNNR = KNA1-KUNNR KNAl

—_—

r -7 0.N' ' MANDT [CLNT (3)]

L - KUNNR [CHAR (10)]

L KNB1
KNBl -BUKRS

o
e
J
o
-
=
5
wn
I

R e m T T T TT T T T X MANDT [CLNT (3)]

A -7 KUNNR [CHAR (10)]

Loy e BUKRS [CHAR (4)]

'+ 1+ /  BSID-SECCO = SECCODE-SECCODE SECCODE

b / - 0. N | MANDT [CLNT (3)]

T PR BUKRS [CHAR (4)]

N e SECCODE [CHAR (4)]

, ST TR . T001
N .- " | MANDT [CLNT (3)]
c ] .7 BUKRS [CHAR (4)]

Loy -7 - - - TOO3

I )

Lo // e MANDT [CLNT (3)]
I

L, P BLART [CHAR (2)]

I / -~ . o = T005
MANDT [CLNT (3)]
e, BSID-EGLLD = T005-LAND1 '~ |LANDL [CHAR (3)]

Lo 1y / -
ey [ BSID-LANDL = T005-LAND1 L TOO7A
A P e - MANDT [CLNT (3)]
[ B A ) / /

RN ’ BSID-MWSKZ = TO0O7A-MWSKZ __90-N KALSM [CHAR (6)]

ern gy _ - -

TR , - MWSKZ [CHAR (2)]

NI , - -
NI -

{QM}HMHA¢OH} }///”’ T008

, e 0..N | MANDT [CLNT (3)]
- ZAHLS [CHAR (1)]

.7 TO012
4 BSID-HBKID = T012-HBKID MANDT [CLNT (3)]
- - BUKRS [CHAR (4)]
-7 HBKID [CHAR (5)]

- TO014
L7 BSID-KKBER = T014-KKBER ~ | MANDT [CLNT (3)]

70,1} - KKBER [CHAR (4)]

- TO15L
» ) MANDT [CLNT (3)]
; - - ~N [LZBKZ [CHAR (3)]

e T040

- ) — . | MANDT [CLNT (3)]
10,1} BSID-MSCHL = T040 M?(EI-_IL_ _______ 0-N

————————————— MSCHL [CHAR (1)]

_____________________ T040S
10,1} BSID-UZAWE = T042F-UZAWE ~ 0..N | MANDT [CLNT (3)]

~ - MANSP [CHAR (1)]

TOI\]-} \~§§§§ T042F
Se ] - ] 0..N | MANDT [CLNT (3)]
.. UZAWE [CHAR (2)]

DR T042Z

—-— MANDT [CLNT (3)]

. " |LANDI1 [CHAR (3)]
RN ZLSCH [CHAR (1)]

~ - TO53R
el MANDT [CLNT (3)]

\ i} = - N | BUKRS [CHAR (4)]
. RSTGR [CHAR (3)]

\{0 1} Tt~ T059Q
{Or{H0L 80, 19,1} Tl MANDT [CLNT (3)]

= — -

T N BSID-UMSKZ = T074U-UMSKZ 0..N | LANDI [CHAR (3)]

mint \ N

:1||||l ||\\|‘ ‘“ \\ N . SSKZ [CHAR (2)]

] \ \ ~

|||||| |1‘\‘1 ‘\\ \ ~

I \ -

llllll ||‘\‘| ‘\\ \ T~ T074U
\ ~

v -l MANDT [CLNT (3)]

Mg by N e s s e e

TTEERE ‘. BSID-VBUND = T880-RCOMP 0..N | KOART [CHAR (1)]

\ \
R \\ . UMSKZ [CHAR (1)]
I 1 >
Illlll‘l AN \\ ~
mrr o vv ~
(KA AR \ \\\ T880
mr e\ \ =
(R \ =~

IR N Tt -o MANDT [CLNT (3)]

e \‘\ S BSID-BTYPE = T8JA-BILIND 0.N RCOMP [CHAR (6)]

mer o
mr o N

mre 1o \\ N
1T ~

1N TR T L N S e T8]A

T T T T N RN

IR ‘\ \ S~ MANDT [CLNT (3)]

mer o

it b 0N
TN BSID-EGRUP = T8JF-EGRUP BILIND [CHAR (2)]
Lo .
llll || ‘\ ‘\ | \\ S
\ -
l||| ‘l ‘l ‘\ \ \ S TBJF
mey 1o\ \ S

nrr oo ~ . MANDT [CLNT (3)]

metr v T~

nie 1o\ . -~ _ BUKRS [CHAR (4)]

I T

TR BSID-VNAME = T8JVWNAME 0-N I'VNAME [CHAR (6)]

I I N
TEEER \\ S EGRUP [CHAR (3)]
el N

[ . A
|||| ‘\\ \ \\ ~

\ .

AR . T8)V
ey =<

e ! Tt~ MANDT [CLNT (3)]

i -

L BSID-BSCHL = TBSL-BSCHL 0.N | BUKRS [CHAR (4)]

AR . VNAME [CHAR (6)]
1 \ N

\ N
|‘ \\ \\ \\ . R
R \ ~

\ S TBSL
e

~
R \ =

v s~ MANDT [CLNT (3)]
e, —
"'\ BSID-CESSION KZ = TCESSION-CESSION Kz N [BSCHL [CHAR (2)]

T I T N

N

Py vy ~
vV ~

R - TCESSION
N CLIENT [CLNT (3)]
TR N i N B COMPANY [CHAR (4)]
U ~ e e L e e e m e mm—— - _ CESSION KZ [CHAR (2)]

\ L -N [T TCURC
SN - N [MANDT [CLNT (3)]
- [WAERS [CUKY (5)]

_—— —_— — -

. TGSB
~ MANDT [CLNT (3)]
~<__ _0-N |GSBER [CHAR (4)]

-~ —_—

—_




